“HELICOPTER WARS” CASE PAYOFF MATRIX

        WDAF                          KCTV                            KMBC

	D   C  M

Y   Y  Y

2    2   2

 #1
	D   C  M

Y   N  Y
3    1    3

#2
	D   C  M

Y   N  N

4   1   1

#3

	D   C  M

N   Y   N

1    4    1

#4
	D   C  M

Y   Y  Y
 2    2   2

#5
	D   C  M
Y   Y  N

3    3   1

#6

	D   C M  

 N N  Y

1    1  4

#7
	D   C M
N   Y  Y

1   3   3

#8
	D   C  M

Y   Y  Y

 2    2  2

#9


Yes totals (across):

            D  C   M

WDAF 9   2   5
KCTV 5   9   2

KMBC 2  5   9
“Yes” Totals:        16 16 16

No totals 

(down):     2, 1, 1                       1, 1, 0                            0, 1, 2            “No” Totals:  3,   3,   3








    Difference:   13, 13, 13

Explanation

You are looking at the Payoff Matrix from WDAF’s point of view and trying to figure out what the other stations think is best for them and what is best for WDAF.  

The most difficult task is assigning weights to the different Yes/No combinations and deciding on what kind of weight scale to use.  Knowing that a YYY combination of decisions is likely if one station puts up a chopper, it’s best to assign a value of 2, which is mid-way in a four-point ordinal scale, which means that the YYY combination will have equal values for each station (the YYY combination maintains the existing equilibrium in which no one station gains an advantage by putting up a helicopter).  Also, it is appropriate to use a scale of 1-4 with 4 being the best outcome and 1 being the worst.

You should leave the NNN combination out of the matrix because one of the stations (yours, WDAF) will put a helicopter up.  Also, notice that Cells 1, 5, and 9 have the same YYY combination.  This repetition occurs because these boxes in a pure payoff matrix would be left blank because you can’t have a WDAF, KCTV, or KMBC Yes and No in the same box.  But if you leave those conflicted cells blank, there will be room for only six decision combinations by leaving out both NNN and YYY.  So, modify the payoff matrix by putting the YYY combination in cells 1, 5, and 9.  This arrangement works out fine when you add across rows to get “Yes” total values for all three stations (left side of the matrix) and when you add down columns to get “No” total values (bottom of the matrix), because the 2,2,2 combination does not affect the comparative numerical relationship among the stations.

The weights should be assigned based on the best ratings outcome regardless of the amount of money it costs to put a helicopter up.  Putting up a chopper is an investment in future ratings increases and should be considered as such.

Discussion
1. Looking at all nine cells, it is clear that Cell #3, 4,1,1 (Y,N,N) is best for WDAF, thus indicating a strong “Yes” decision.

2. Cell #2, 3,1,3 (Y,N,Y) is the second best outcome because it is worse for KCTV, indicating a “Yes” decision for WDAF.  But KMBC is least likely to put a chopper up right away, so that combination probably shouldn’t be considered.

3. Cell #6, 3,3,1 (Y,Y,N) is the third best outcome because it gives the same advantage to both KCTV and WDAF, indicating a “Yes” decision for WDAF, and it is the most likely one to occur.

4. It is equally as advantageous for WDAF and KCTV to put a helicopter up, and least advantageous for KMBC (16, 16, 12), because KMBC is already number one in news ratings.

5. If no station puts up a helicopter, equilibrium is maintained (2,2,2).

6. Thus, WDAF’s best outcomes indicate a “Yes” decision.

Therefore, WDAF’s best strategy is to make a pre-emptive move and put a chopper up, but in order to keep KCTV from putting one up it must keep its move absolutely secret so that it can get first mover advantage (Cell #3, 4,1,1).

